Tax Outline

Goal of tax lawyers: speed deductions & delay income

I. What is taxable Income

A. Haig-Simons Income (HS) = economic income

1. Calculated = Consumption + Change in Wealth (or value of assets) {yearly}

2. 
Borrowed money is not taxable income, you have to pay it back

3.    Differences b/w HS and IRS

a. HS says increase in stock is change in wealth, IRS says no b/c it is not realized

b. HS says unrealized appreciation, imputed income, value of gov’t services are income, IRS says no

B. Realization Doctrine

1. Not a tax expenditure – “normal”

C. Fringe Benefits – non-cash income

1. Income in kind which in turn may be defined as non-cash income / let’s you exclude something from GI that would not be deductible

Ex: meals, stock options, health insurance, companies picnics, parking

a. Taxable fringes are included in GI

b. Non-taxable fringes are not included in GI

c. Accounts as a 380 billion tax expenditure

2. Default Rule = fringe benefits are taxed § 61 (a)(1)

a. Taxed at FMV of the person receiving them –not necessarily the cost 

3. NON-Taxed Fringe Benefits

a. Look at §119, if its not in there it is taxed (Kawalski)

b. Health Insurance

c. Cafeteria Plans

(1) Take money out of paycheck to pay for expenses not covered by health insurance § 125

(2) Allows you to pay for things in pre-tax dollars ex: X puts $400 in flex account b/f taxes, if he was in 31% bracket he would have lost $89.85 on each $200 chiropractic visit

(a) So you can pay for things in pre-tax dollars, if he hadn’t done cafeteria plan, he would have had to spend $285 for the $200 visit

(3) If you don’t use it by the end of the year you lose it

d. § 79 50k of group term life insurance

e. §106 medical insurance, no limit

f. §119 meals & lodging

g. §127 educational assistance $15,250/year, only undergrad

h. §129 Dependent care: er pays 5k/year in child care

i. §132 – lists exceptions

4. Leads to a NON-neutral Tax system

a. Meals are not taxed but cash is

b. Allows Dr’s to inflate costs – b/c health insurance fee rates can go up

c. Distorts decisions, neutral system does not distort the system

5. Policy on Fringe Benefits

a. For taxing Fringes

(1) Wastes resources – non-neutral tax system

(2) Discourages savings – encourages consumption b/c you can’t save fringes

(3) Unfair b/c it is a voluntary assessment program

b. Against taxing Fringes – keep the current system

(1) paternalistic – encourage education and insurance

(2) Negates Externalities: if people didn’t have insurance state would have to pay for it anyway

(3) Tax relief – taxes are high enough

6. Benoglia p. 89 - § 119 codifies this case

a. If it is for the convenience of the ER’, then EE is not taxed on fringes

b. Allows tax free Lodging and Meals

(1) Both must be on business premises

(2) Fire fighters, hotel managers, physicians on call , teachers at boarding school, Governors and Presidents, Casino ee’s

(3) Must be involuntary, no choice, not worth full cost to ee

c. Treasury Reg. 1.119-1(a)

d. Applies to law firm meals, kinda

7. Gotcha: H&W are flown to Germany b/c car manufacturer is recruiting business

a. H is not taxed b/c it is co’s benefit, but wife’s trip is

8. Code Regulations

a. §132(a) – General Fringe Benefit rule

1) no additional cost service

a) Something that is no cost to er, such as free airline tickets to ee’s when plane is going to destination anyway

b) 1.32-2(a)(5):no substantial additional cost

c) § 132(h)(2) ee includes family

2) qualified ee’ discount – allows ee to purchase at or near cost

a) If ee gets it for less than cost than it is income & taxed

i.  Deals w/ merchandise exclusively

b) Allowable discount = gross profit/total sales

i.  Discount is not taxed

c) Fringe must be for same line of product that your ee participates

i. Conglomerates (parent corp that owns many business’s) can’t give fringes to ee’s outside their particular business

ii. i.e.: RJR Nabisco can’t give food division ee’s free tobacco products

iii. Reason: gives conglomerates more of a competitive edge than single business’s

d) Cannot discriminate: to be tax free, fringe must be available to all levels of ee’s 

3) working condition fringe

a) If ee could have deducted it himself:§162 or §167

i.  1.119-1(a)(2)(iii) –must be for business purposes

b) ex: deposition in H town, plane trip, hotel & meals may be fringe, not taxable

c) ABA dues, computer

d) Non-discrimination rules don’t apply

e) Independent K’er

· Independent K’er can use working condition fringe benefits

· Must pay ee & er payroll taxes (FICA)

4) de minimus fringe

a) Value of what is being provided is so small it is not worth keeping track of

b) Ex: Free sporting event tickets, snacks, local telephone calls, occasional supper money

9. Rules apply to FICA as well as IT

D. Imputed Income

1. A non market place transaction, X does not receive anything in the literal meaning of income: therefor it is NOT taxed

a. 2 types

1) Property – not taxed unless rented

2) Services

2. Property

a. Home Ownership: owning & living in home, X derives benefit from it in terms of income

1) ex: X owns a house and rents a house.  

a) On the rented house, X receives 12k in rent/year but also gets to deduct 3k in depreciation – so 9k is taxable income – so x pays 3k in taxes = mkt rents

b) On the house he lives in, x is both LL & Tenant and so does NOT pay tax, unfair to tax rented even though X is also the LL = Imputed Income

b. Benefits derived through renting property is taxed

c. Depreciation value is allowed on rented property b/c it is tax, but not on imputed income b/c it is not taxed

d. Interest on personal car loan is Not deductible  b/c imputed income is not taxed

3. Services

a. X performs the service himself rather than pay someone else to do it

1) Tax attorney doing his own taxes 

2) Painting your own house

3) Time spent gardening

4) Home makers

a) Value of staying home  = 17k (meaning if y could make 17k on the outside she wouldn’t take it)

b) But y goes to school and can now get 24k  - she would go to work b/c personal labor is worth more in the mkt than at home

c) But factor in tax…on 24k @ 28% w/ 7.65% Social sec.   = 36% avg. tax = $8,640 tax – so y is still only making $15,360 in after tax dollars so it is better for y to stay home at a 17k value

b. Significant loss to the economy –problem w/ non-neutral tax system

c. Market is taxed, imputed is not

d. Administratively infeasible to tax imputed

e. Lower the tax rate and there are fewer distortions

1) on 24k income @ 15% = $5520 = $18,480 in after tax dollars = better to go to work than to stay home

f. Example:  house owner gets 20k in imputed income (non deductible), 2k in depreciation (non-deductible), & 3k in interest and taxes deductible: so it si a 3k loss to US b/c X can deduct the interest and ignore the rest

g. Reason our society favors owners and occupiers of houses – our economy has more invested in this than anyone else

h. Ownership has positive externalities

1) X takes care of his house more

i. Implicit or putative tax or capitalized tax: If price of housing goes up b/c more people own houses, then tax break might not be a good idea (tax is capitalized in price of house)

j. Barter Club stuff (not imputed income)

1) Swap services: I’ll paint your house if you do my taxes…

a) Mkt place transaction (each has value – its just not in cash)

b) BUT, if X is getting her office painted & y is getting legal advice about his business, then both wash out b/c they are business expenses and although reported under income, are allowed as deductions

E. Windfalls

1. Examples: X buys a piano and…

a. Cash falls out = taxable income

b. X finds out it is worth more than he paid for = bargain, no tax

2. Accession to wealth  = income  = taxable, even if not in cash

3. Punitive damages

a. Glenshaw case p. 126, X gets awarded treble damages in law suit, is the 250k in punitives  taxable?

b. § 61 GI = all income, language is as broad as constitution will allow (16th amendment)

c. Eisner threw out the part of the tax code that taxed something that wasn’t income

4. Finding stuff = taxable b/c Haig Simmons Income § 1.61-14 p. 865 (treasure trove)

a. Must report value of item received

b. IN the year you received it

5. Bargain purchases are NOT income

a. Buy something on sale = not taxed

b. Rare book for $5 really is worth 15k = not taxable

c. If you then sell it for more = then you are taxed on the increase from your basis

1) ex: X bought piano for 1k, sold it for 15k, taxed on 14k = change in basis, income is realized 

II. Gifts & Bequests

A. §102 is gifts = not included in GI  =  not taxable generally

1. Important distinction from HS income, it does not equal taxable income

a. Ex: Uncle to nephew of 20k, not taxable, but increase in wealth

2. Earnings received from gifts are taxable

3. Inheritance is not taxed

B. Definition of a gift

1. Depends on the exclusive intent of the offeror, Duberstein p. 130

2. A gift proceeds from a detached and disinterested generosity (affection, respect, charity)

3. Intent is for the fact finder, highly specific inquiry

a. To ascertain subjective intent, we look at objective manifestations

C. Gain from sale of gift item is taxable § 1015

1. Price received – basis = gain (taxed)

2. Carryover basis: basis is the amount paid originally for the item by the devisor

a. Want to make sure gain is realized

D. Stepped –up basis § 1014

1. For inheritance purposes, when X dies, the value of the property will be adjusted to the FMV of the day the decedent died

2. No one pays income tax on the gain

3. No stepped-up basis if on installment plan

E. Income Shifting

1. Allows people to shift appreciation to low bracket tax payers

a. Ex: X gives 9k to daughter b/c she will be taxed at 15% rather than the 40% in his bracket

2. Goal post Rule – designed to prevent shifting losses

a. Only applies if at the time of the gift the value has gone down below the basis

EX: FMV = 10k, basis = 19k


Sells for Loss

No Gain or Loss

Sells for more than Basis




Recognized


LOSS





GAIN




 10k


  19k



FMV


Basis

· Gift is resold below its value at donation is a recognizable loss

· Resale ablove basis is a recognizable gain

· Resale b/w value at time of donation and basis has no loss or gain

b. Rule prevents a nonabuse

(1)  Higher tax bracket people want the loss & don’t want the gain

F. Making Gifts

1. Intervivos

a. Appreciated property  -  transfer to lower bracket (kiddie tax)

b. Depreciating property – take the loss and give cash

2. Inheritance

a. Appreciated property – hold on to it, basis steps up!

b. Depreciating property –sell it, basis will step down

G. Income w/respect to Decedent (IRD)

1. X inherents income from decedent, but it has not been recognized for tax purposes yet

2. It is taxed

3. Problem is caused by accounting

a. Accrual method, Income would be recognized earlier

b. Congress thought it wrong to allow this income to escape taxation

H. Federal Gift and Estate Tax

1. Tax rates go up to 55%, §2001 Estates & §2502  (gifts)

2. Loopholes (not taxed)

a. Transfers to spouses §2050

b. Lifetime transfer in wealth for $650k §2010

(1) X can give over his lifetime $650k in property

(2) X can give 100k in life and 550k in death through estate

(3) 10k a year does not effect this 

c. 10k a year (only living) §2503(b)

d. Unlimited tuition §2503(e)(2)(h)

e. Unlimited medical expenses §2503(e)(2)(b): could even be to a stranger

f. Support – legally required through Common law doctrine

g. Transfer to charity or Gov’t §2522

3. Skipping Tax

a. Can transfer up to 1 mil w/out being taxed twice

III. Recovery of Basis §1.61-6 p. 862

A. You get your money back before you pay tax on the gain

1. Ex: Bought A for 1k, sell for 10k, Gain = 9k, taxed on gain

2. Ex: Must sell car (capitalize) b/f you can deduct its expenses: sell car for 20k, 12k in expenses, GI = 8k

B. Problems with allocating basis

1. Land – use relative value

a. X buys 150 acres for 300k, 300k = basis; X then sells 50 of the acres to y for 1 mil, what is the basis on the 50 acres?

b. Allocate basis on Relative Value: so if the 50 acres are worth 2/3rds the FMV, then 200k = the basis and 1mil – 200k  = 800k in taxable income at 20% LTCG = 160k in tax

2. Stocks – 2 choices

a. X buys GM stock in 1981 50: $30/share, in 89 50: $50/share, and in 97 50 $100/share; in 99 X sells 50 shares for $120.00…what is the basis?

b. 2 methods –pick the one you want

(1) Specific Identification Method

(a) Taxpayer decides which stocks are to be considered the basis for tax purposes

(b) If X can’t identify which ones then he must use the FIFO rule

(2) First In First Out Rule (FIFO) – default rule

(a) Hurts you in times of crises

C. Annuities

1. Annuity defined

a. Like a savings account, but w/ a bet

(1) Long life expectancy = annuity

(2) Short life expectancy = life insurance

b. X pays 500k to Insurance Co., when X turns 65, they have to pay X 50k/year

(1) If X lives to 85 (based on actuaries), then it’s a wash, if X lives to 95 then X wins the bet, if X dies at 65 he has lost the bet

(2) What X would have to pay w/out annuity for 20 years of 50k = 1 mil 

c. Annuities allow X to build up money until he “annuitizes” the value and receives cash payments or he completely cashes out

(1) No HS income, all tax is deferred until X annuitizes

(2) Annuities can buy and sell stocks w/out tax 

2. Deferred Annuity

a. Def.

(1) X is 40, he buys an annuity that will start when he is a certain age, like 66

(2) So X Buys a deferred annuity at 66 for 125k that will start when he is 66 that will give him 50k/year

b. Tax Expenditure b/c X is not taxed on the interest build-up until he starts to receive payments (wealth goes up but no tax)

3. Taxing annuity payments

a. How would X in ex: C 1 b. get taxed??? - X is receiving 50k a year on the 500k he put in

b. 50k is neither pure income or basis

(1) Calculate the EXCLUSION Ratio § 72 (b)

(2) Best way is to apply the basis to the first 10 years (Time value of Money)

(3) So…20years x 50k = 1mil, so, 1 year = ½ basis + ½ income

(a) IN 20 years = all basis recovered

(4) If X lives longer than 20 years, it is all income after that

(5) If X dies earlier than 20 years, the unrecovered basis is deductible

(a) X dies at 66, unrecovered basis = 475k

(b) § 72 (b)(3) = tax loss

(c) Executor will take 475k and carry it back to previous income tax returns and get a refund

4. How to figure it out

a. Use Table 5 p. 878 § 1.72-9 (life expectancy tables) {p. 62 = congresses simplified}

(1) Table V is a unisex table (it is the average of the sexes)

(a) Table V helps women b/c it expedites basis recovery b/c of their longer life expectancy that is averaged out w/ men

(b) 1964 Civil Rights Act does not allow IRS to adjust to women’s longer life expectancy, but private insurers can

(2) Table I is no longer in effect

b. Ex: X will be 70 on 1/1/99, he paid 120k for annuity for 1k/month from 1/30/99 on

(1) Use table 5 = 70 year old has 16 years life expectancy

(a) Don’t mistake years for months – table is in years

(2) 1k x 12 months  = 12k/year

(3) 12k/year x 16 years = 192k (aggregate of expected payments)

(4) 120k (amount put in) / 192k (expected return)  = .625 multiple

(a) Remember that .625 = % of basis

(5) 1k x .625 = $625 basis recovery = $375 income (taxed)

5. Cost Recovery for Annuity – put it all together

a. Ex: X pays $379.08 for 5 years of $100 (x can do this b/c of time value of money)

(1) Exclusion ration  = $379.08 (amount put in) / $500 (expected return) = .7582

(2) .7582 x $100 = $75.83 of every payment = basis recovery, $24.18 = income

b. But the value of the annuity goes down every year, so to accurately measure income, the basis should = the decline in value every year, but decline in annuity is not indexed by .7582

$100
$100
$100
$100
$100
= $500

$90.91
$82.65
$75.13
$68.30
$62.09
= $379.08 

Depreciating Value of the $100 over 5 years

(1) Back Loaded

(2) To be undertaxed 1st 2 years and over taxed last 2 years is good assuming tax rates remain constant

c. X makes initial investment of $379.08, Income @ 10% = 37.90

ANNUITIZING a MORTGAGE




* Start w/ Investment of $379.08 and multiply by interest rate of 10% = income


Outstanding Principle
Amount of Payment allocated to Principle
Payments are constant
Actual Decline of Annuity: starts low goes high



A
B: Interest Income 10%
C:  Cash Received
D: Basis Recovery
E: New Balance A minus D

Year 1
379.08
37.90
100.00
62.10
316.98

Year 2
316.98
31.70
100.00
68.30
248.68

Year 3
248.68
24.87
100.00
75.43
173.55

Year 4
173.55
17.36
100.00
82.64
90.92

Year5
90.91
9.09
100.00
90.91
0

(1) Annuitizing an annuity is the same as annuitizing a mortgage

(a) Payments are the same every month

(b) Part of payment = interest and part = repayment of debt

(c) Initially the payment is mostly interest (col. B)

(d) 2nd year the % of interest goes down so lower principle  = lower interest

6. Accelerated depreciation is a deliberate attempt to give co’s a cost reduction on equipment

Mortgage Example

X buys house for 150k, borrows 140k at 8% for 30year mortgage: monthly payments are $1,027

(8% / 12 months) x (140k – amount borrowed) = 933.33 interest payment & 93.66 principle (= 1,097)

Years
Principle
Interest
Payments
Principle Payments
New Balance

Year 1
140k
$933.33
$1027
$93.66
140k - 






















D. Life Insurance

1. Term Insurance – not taxed § 101

a. Limited Term, no savings component = pure death insurance

b. Ex: X pays insurance co 1k and X gets 200k if he dies w/in 1 year, x dies, 200 k (199k gain) goes to estate = mortality gain, not taxed § 101(a)(1)

(1) If X doesn’t die = mortality loss, not deductible

c. Compared w/ annuity

(1) Annuity = mortality gain if you outlive your expectated life, Insurance = mortality loss if you outlive your expected life table

(2) Annuity = mortality loss if you die early, Insurance  = mortality gain if you die early 

2. Whole Life 

a. Buy term life + Saving component

(1) Part of premiums go to insurance and part go to savings

(2) Not taxed on interest build-up unless you live past the policy

(a) If X dies w/in policy time = no taxes at all

(b) If X lives beyond policy then he is taxed on interest

· From ex below: 175k (amount of policy) – 90k (basis 3k x 30years) = 85k gain

b. Advantages

(1) Tax advantages: Problem: The amount that is designated to savings is not differentiated from that which went to the term insurance – so you are taxed on all of it?????????

(2) Forced Savings

c. Disadvantages

(1) Interest rates on savings is low – better to invest the difference

Ex: whole life is 3k, term is $500, invest the 2500 difference in stocks = better rate

Premiums on whole life are more than on term

(2) Agents will lie

(3) Too expensive to buy a large enough policy w/ the right protection

d. Ex: X buys annual premium for 3k/year for 175k policy for 30 years; X dies early – 175k payoff, if X doesn’t die  = 175k payoff after 30 years

e. BAD DEAL b/c interest on savings is very low, it would be better to buy term and invest the difference

(1) Implicit taxes – people are being taxed more in this scenerio

(2) Time value of Money

(a) 1k @ 8% for 30 years = $10,062

(b) 1k @ 6% for 30 years = $ 5, 743

* difference b/w 7% insurance and 12% stock equity

E. Inflation – not indexed

1. People are being overtaxed by not being allowed to adjust basis for inflation

a. Example:

(1) Sit 1: X buys land in 1970 for 4k, sells it for 10k in 99 = 6k in gain

(2) Sit2: Y buys land in 1998 for 4k, sells it for 10k in 99 = 6k in gain

(3) Both taxes = 1200 b/c of 20% LTCG 

(4) Nominal gain = 6k, real gain (adjusted to inflation) is different

(a) 1970 $’s do not equal 1999 $’s

(b) Adjust for inflation 1970’s basis = 8k, therefore real gain  = 2k, by not taking into account inflation, tax is really 60%

(5) Sit 1: gets screwed

(6) Sit 2: nominal gain = real gain

2. Low LTCG is suppose to compensate for lack of inflation

a. Lack of inflation could result in a loss

b. Ex: X buys land in 1955 for 10k, sells it in 1999 for 50k, w/ inflation, 1955 purchase  = 66k = 16k loss

3. Is it Constitutional?

a. Nothing says Feds have to tax real gains – they can tax nominal gains

4. System has not been fixed b/c

a. It would cost US $

b. Very complicated, you would have to index debt as well as assets

IV. Damages

A. Business = taxed

1. EX I: Corp is P and sues for lost profits and punitives.  

a. Lost Profits recovered = taxed as if received in the year they are received (not the year they should have been received

b. Punitives recovered = taxed in the year they are received

2. EX II: Small plane destroys restaurant – R sues to recover value of property: Basis = 1mil, FMV = 3  mil.

a. R is taxed like a voluntary sale  on amount above basis: 3mil – 1 mil = 2 mil gain  (taxed) OR

b.  Involuntary Conversion § 1033: w/in 2 years, R can buy another Restaurant for 3 mil and no gain will be recognized and the basis will still be 1 mil   

B. Personal Stuff

1. Personal Injury = NOT TAXED §104

· Law is unclear w/ the line of what is physical

· Settlements are unclear what is compensatory and what is punitive

a. EX I: P lost part of finger and sues and collects 10k from suit or settlement

(1) NOT TAXED §104(a)(2) on either settlement or suit

(a) To tax would be unfair

(b) Too harsh – human capital is overtaxed and we should give the guy a break

(c) Trying to restore a person to the status quo

b. EX II: Troy Aikman losses finger and sues UPS, gets 30 mil for lost earnings

(1) NOT TAXED

(2) Unfair b/c he would have been taxed anyway on those wages

(3) Compensatory = not taxed

c. EX III: 60 year old guy sues for lost wages b/c an accident prevents him from working, gets 100k for 5 years

(1) NOT TAXED

(2) Helps D b/c jury doesn’t overcompensate due to tax

2. Libel = taxed

a.  §104(a)(2)  = allows only physical injury – this is personal but not physical

3. Emotional Distress = Taxed

a.  Not physical – go back to the impetus = was it physical? 

4. Mother & Child = NOT Taxed

a.  Guy hurts child, mom sues – not taxed b/c underlying cause is physical

5. Race Discrimination = Taxed

6. Personal Freedom: destruction of irreplaceable personal rights  = NOT taxed

a. Ex: social standing in the community

b. No mkt exists for replacement

c. Compared w/ libel which is taxed

7. Punitive Damages = ALWAYS TAXED

a.  designed to punish – not to compensate the victim

What kind of injury
Compensatory
Punitive

Physical personal Injury
Not Taxed
Taxed

Non Physical Injury
Taxed
Taxed

C. Lawyer fees out of Awards – deductible

1. Deductible § 265 if it is a taxed recovery & § 212 person gets deduction for expenses incurred

2. Pure cases

a. Pure Physical att fees are NOT deductible - Ex: P gets 1 mil for physical suit, but 300k in att. Fees, X can NOT deduct 300k

b. Pure NON-physical att fees ARE deductible - Ex: P gets 1mil for Libel, 300k in att fees, X can deduct 300k: X is taxed on 700k

3. Mixed

a. Ex: 1 mil recovery : 500k  compensatory, 500k punitives, att fees  = 300k

b. Not much law here, IRS wants att fees to be taken out of comp, while P would like it to be applied to puni’s

c. Look at time allocation by lawyer: go w/ a middle ground 

V. Debt

A. Money borrowed is NOT taxed, not HS income b/c no increase in wealth

B. Interest on loan may be deductible

1. 2 parts to a loan :

Interest 

& 
Principle

Might be deductible

never deductible

C. COD Income: Cancellation of indebtedness Income  = income from discharge of indebtedness

1. Needs a realization event

2. Taxed §61(a)(12) b/c it is income: Freed-up asset theory

a. Look at it, you must 1st receive assets in return for debt  - then yes!

b. Rule: When you issued the debt you issued assets, once the debt is extinguished the assets are freed b/c b/f the assets offset the debt, but now assets w/out debt are income

(1) Ex: X owes 15 k to bank and will go bankrupt if he has to pay it, X’s car is only worth 5k, but bank says it will knock down his debt to 8k – X now has income of 7k (taxed)

c. Income on Bonds are COD = Taxed

(1) Ex: X sells 12 mil in bonds, buys some back later for less than par  = Income like COD income = taxed: Kirby Lumber p. 220

1. Not COD income

a. Corp. issues bonds in replace of dividends, then cancels the bonds… not COD income b/c there were no assets freed up by canceling the bonds: Rail Joint Co.

b. Canceled promise = No COD Income

(1) Ex: Give niece a 10k promissory note to pay for law school, things go bad and you can’t pay –not COD income b/c you never received anything for it

c. § 108 (e)(2): NO COD income if the debt would have been deductible at the time it was paid

(1) EX: Law firm owes 10k for supplies, debt reduced to 6k, no COD income (4k) b/c it would have been deductible

(2) Rational: forgiving debt is a creditor giving payment (like a reduction in purchase price)

d. § 108 (e)(5): reducing price for a piece of land is NOT COD income

(1) EX: X buys 50 acres of land for 200k & gives promissory note for land, land is found to have problems so x negotiates a reduction by 50k, so now the note is 150k, COD income? = NO 

2. Exceptions to COD = § 108

a. Title 11 Bankruptcy §108 (a)(1)(A) (judge made rule later codified)

(1) If X declares bankruptcy, then no COD income

(a) would interfere w/ fresh start principle

b. Title 13 Bankruptcy (same as 11 but for individuals

c. Title 7 (straight bank liquidation)

(1) All unsecured debt not paid off from sale of property is cancelled

(2) Student loans are not dischargable unless they would create an undue hardship

(3) Loan cancellation due to participation in community programs is NOT COD income  § 108 (f)

d. Tax Payer’s Insolvent §108(a)(1)(B)

(1) If debt exceeds the FMV of X’s assets (basis is not relevant here)

(2) Ex: X is in debt by 500k, FMV of his assets = 200k, Debt is reduced to 400k = no COD b/c X is still 200k in the hole

(a) If X owes 500k, has assets of 200k and gets a 350k in reduction, then X DOES have COD income on 50k

(b) Rule: Amount of debt cancellation not COD can not exceed assets

e. Farmers Debt when forgiven is not COD

3. Corporations

a. §108 forces people into bankruptcy

(1) Ex: Corp owes 10 mil to creditors, says it will pay 6mil in cash for 10 mil it owes = 4 mil in COD income

(2) Stock: If Corp issued 6 mil in stock to pay off 10 mil debt, then you take the FMV of the stock, difference  = COD

(3) Company 
Owes 10 Mil

       Creditors 


Subsidiary              Pays off 10 mil debt to creditors for Corp. w/ 6mil.

· Does not work: § 108(e)(4): if related part of corp. purchases the debtors debt, it is like the debtor itself purchased the debt = COD and TAXED (4 mil)

· Main Point: Could be double wammy if debt is forgiven

4. Certain Tax attributes are reduced

· Debt forgiveness not taxed, then the attribute no longer belongs to the debtor

a. tax attribute = tax characteristic that will reduce future taxes

b. What happens: Having debt discharge reduced  = paying more tax later

(1) US says don’t pay now, pay later

(2) Ex 1: X borrows 100k from bank and buys a building, basis for building = 100k; X files for bankruptcy, 100k is forgiven (bank still deducts bad credit although it was never taxed)

(a) No COD b/c of bankruptcy

(b) The Building basis goes from 100k to 0 b/c you reduce the amount of Tax Attributes by the amount of tax forgiven

(3) Ex 2: X borrows 100k to purchase land, buys land for 130k (30 of his own): basis  = 130k, goes bankrupt, debt is forgiven, New Basis  = 30k

c. Basis:  If basis is reduced

(1) More taxable gain when you sell the building

(2) Much lower depreciation amount, depreciation is based on your basis

d.     Tax Attributes effected § 108(b)(2) p. 95 (list of reductions

(1) Net Operating Losses (NOL)

· Allows business to deduct losses in future years

· § 172: you can carry losses back 2 years

· § 172: you can carry losses forward 20 years


Ex:

FIRM 1
Year 1
Year 2
Totals over 2 years


$600 Loss
$1200 Income
$600 in Income

33% tax
0 Tax
$400 Tax
$400 in Taxes

Adjusted for NOL
0 Tax
- $600 = $600 in income
$200 in Taxes

FIRM 2
Year 1
Year 2
Totals over 2 years


$300 Income
$300 Income
$600 Income

33% tax
$100 tax
$100 Tax
$200 in Taxes

· Aggregate income for the 2 firms  = $600, but there is a $200 difference in taxes

· Allows Firm 1 to deduct $600 from Year 2 = $200 in taxes

· This system allows more volatile companies to not be discriminated against

(3) Credit Carryovers = Tax Credits

(4) Capital Loss Carryovers = only deductible against capital gains

· capital gains are still taxed 

(5) Basis  = already discussed

(6) Foreign Tax Credits


(a) US tax payers must pay tax on money earned in foreign marketplaces


(b) Tax credit allowed for foreign tax paid 1:1


(c) If foreign tax is more than US tax, then limit it to US rate


(d) If you get taxed 50% in foreign rates, you can only get credit for 40% (US 

rate)

(d) The extra tax credit may be carried forward

(e) If the foreign tax is higher, you will never be able to get credit for it, however you may be able to use it to offset other foreign income

d. EX: Assets  = 1 mil, FMV = 200k, debt = 800k, attributes  = 100k NOL & 50k credit carryovers & 100k corp. loss carryovers: debt is reduced to 100k b/c…X is insolvent by 600k (800k – 200k), in bankruptcy nothing is taxed (no COD income), tax attributes are  = to 600k in income, NOL  = 100k, tax credits  = 1:1 reduction (50k x 3 = 150k) $1 tax credit  = $3 of tax deductions/income not taxed Basis = 600k – 350k = 250k (subtract from 1mil) = 750k new basis

e. 2 kinds of debt

(1) Recourse debt: even if collateral doesn’t cover, you must pay

EX: 1k in recourse debt  = $800 in FMV, foreclosure…bank cancels debt, $200 in COD income

(2) Non-recourse debt: bank limited to amount of collateral

EX: Debt  = 1k w/ FMV of $850, basis  = $800, bank cancels debt = $150 in COD income & $50 in LTCG

D. Bonds

1. Anatomy….Ex: X buys GM bonds payable in 30 years (that is when they mature)

a. Par value = 1k (the price the bond will pay when it matures)

b. Coupon rate = 8% (the interest rate, which means X will receive 8% of par value (1k) (or $80) every year till bond matures

(1) = $40 twice a year

c. Market Yield: ?????????????

(1) If Mkt Y (10%) is more than coupon (8%), then you would pay less than par for the bond = $900

(a) Pay present value of cash flows discounted by 10% 

(2) If Mkt Y (6%) is less than coupon rate (8%) then you would pay more than par for the bond = $1100

(a) If you pay more than par ($100) – you lose it when the bond matures

d. Real World: Bonds are issued at par and interest rates change

(1) So cash flows are constant but Mkt Y changes

e. Interest Rates go up, bonds go down and the converse is true

2. Must have realization event to recognize income on a bond (or COD event)

a. GM issues new bonds, Mkt Y goes up to 10%, GM does not have taxable income b/c there is no increase in wealth, it is not recognized

(1) HS would say Yes income b/c liability has gone down

3. Original Issue Discount (OID)

a. Zero Coupon Bond w/ par value of 1k that matures in 10 years (called zeros)

(1) Zero = not going to get interest during that time (10 years)

(2) 1 payment in 10 years, less troublesome

(3) If mkt rate is 8%, you pay the amount that if you put money into the account for 10 years it would  = 1k; you would pay $463

(4) Formulae = Future Value/(1.0n)10power where n = interest rate

(5) How is gain taxed?

· personal: Bond gain is treated like income, not LTCG

· corp. deducts $537 in expenses (through accrual) 

b. Old Law 1: Problem w/ deferring realization until maturity

(1) Clientele effect: A (holder of bond) is under taxed, B (issuer of bond) is overtaxed)

(2) High bracket tax payers gravitate to A, lower income to B (tax exempts as well)

c. Old Law 2Problem w/ straight lining realization on bond gain (total gain/# of years)

(1) A Bond holder is now over taxed and B (bond issuer) is under taxed

(2) Clientele effect: high bracket tax payers issue bonds, low bracket tax payers buy bonds

(3) Over taxes b/c it misstates growth up front  

d. ACTUAL LAW

(1) Actual money made each year is income to holder and deductible by corp…


A) Value of Bond
B) Income @8%: Deductible  = this is  = to 8% of column A



Year 1
463
37

Year 2
500
40

Year 3
540
43

Year 4
630
50

Year 5
680
55

Year 6
735
59

Year 10
926
74

(2) Basis goes up b/c you have already paid tax

(3) Like savings account

e. Zeros are owned by persons w/ 0 cash flow problems

f. OID only applies when bonds are issued at discount (not when issued at par)

(1) Only OID if mkt yield is greater than coupon rate

(2) But if current mkt yield is greater than the yield at issue date = mkt discount

(3) If OID bond is sold, the buyer takes over the OID from the seller (assuming interest rates are the same  - bond sold for amount  = to previous owners adjusted basis)

g. Market discount does not use OID rules

EX: X buys GM bond w/ coupon rate of 6%, at time of issue, mkt rate was 6%, par value = 1k, how much do you pay? = NO OID

But now Mkt goes up to 8% and you buy bond (bond is worth less), paid 100  basis, sold at 900 = 100 capital loss  

· Mkt bond Taxed as ordinary income at the end

· Not taxed as OID b/c mkt bonds are issued when corps are in trouble – not sure if they will mature, can’t impute income

(1) If held until maturity, all gain is ordinary income

(2) If sold immediately b/f maturity, all gain is LTCG (20%)

(3) So much gained is realized b/c unlike OID, the basis is not adjusted every year

EX: Buy bond for $750 in middle of term (5 years left)

1) If it matures, gain of 250 (taxed as ordinary income)

2) If sold right b/f maturity, gain of 240 (taxed as LTCG)

h. What if interest rates go down…

(1) Par value goes up, resulting I capital gain to seller, now buyer can’t take over old table or he would be over taxed!

(2) Take a fraction = 

(face value - buyers basis)

(face value – sellers basis)

: then multiply by the sellers remaining discount component

i. If Rates go UP

(1) Seller gets loss, buyers basis is decreased from sellers

(2) Each year is recognized

j. SOLUTION

(1) treat realization of accrued mkt. discount as ordinary income

(2) Use straight line method for accrual of mkt. discount

(3) Old system nearly abandons realization doctrine, have to pay taxes even though no gain realized, also locked into schedule when bond changed, if interest rates rise or fall, could b/m unfavorable 

EX 1: Bond w/ coupon rate of 6%, par value  = 1k, MKT yield at issue  = 8%



Bond will sell at a  discount (at issue)



OID  = 900 – 1000

EX 2: Coupon rate 8% and MKT yield at 6%



Bond will sell at a premium


Tax payer allowed to ammortize the loss ($100 over the life of the bond)

VI. Tax Exempt Interest

A. Business loans

1.  Prepaid interest must be capitalized

B. Individual loans for investments

C. State & local bonds

1. FIT does not tax the interest on state or local bonds §103

a. Usually States do not tax their own bonds

b. But don’t buy California bonds in NYC, b/c they will be taxed

2. Policy

a. Provide incentive for tax payer to buy gov’t bonds

(1) Bonds are worth more b/c you don’t pay tax even though they are a lower yield

b. Implicit tax – X is being taxed by receiving less interest

3. Ex: Taxable bonds make 10% interest but are taxed at 40% = 6% after tax rate, if gov’t bonds are at 7% then  = 1% better

4. For bonds to be desirable for X in 28% tax bracket, Mkt yield must be more than 7.2%

5. Tax exempt bonds are good for higher income people

D. ARBITRAGE

1. The code will not allow tax payer to take a deduction as well as receive tax free income on the same money/investment

a. need tax symmetry – shows inconsistent treatment of our tax system

b. It is a negative tax = makes you richer after tax filed

2. § 265: does not allow interest deduction on money borrowed to invest in municipal bonds

a. No interest deduction on money borrowed for single premium insurance (whole life) or annuity

b. No interest deduction for money borrowed on municipal bonds

c. EX:  X borrows 10k at 10% to purchase 10k in municipal bonds which yield at 8k.  X would like to not use § 265(a)(2) which prevents the deduction of the interest on the 10k borrowed

d. LOOP Hole: X has 10k in cash & 10k in debt, instead of paying off debt, he buys a municipal bond = arbitrage b/c it is as if X paid off debt w/ 10k and then borrowed 10k to but bonds (as long as interest on money is tax deductible)    

3. Investment interest deductions are capped per year to investment income § 163(d) 

4. Risk-less profit - § 103 (b)(2)

5. ALLOWABLE Tax Arbitrage

a. Home mortgages allows tax arbitrage b/c it allows a deduction of interest expense and the imputed income on the house is not taxed = legal arbitrage

6. Financial Institutions ?????????9/30

a. I bil in assets, 400 mil in borrowing off debt and 600 mil in equity (stocks)

b. take % of debt so if  bond  = 1k, 40% from debt - $400

VII. Installment Sales/Accounting

A. Timing Issue: Seller can defer recognizing gain from a transaction until he gets cash from buyer (income w/ respect to decedent §1014 does not apply – no stepped-up basis)

1. A Tax break, b/c time value of money & no interest is payable on money deferred; p. 308 Charl.

B. X wants to buy Y’s land.  X gives Y a note for 1mil (basis = 200k) & agrees to pay 100k in principle over 10 years w/ interest @10%, Y will get secure loan

Year 1: 100k in principle + 100k in interest = 200k in cash

Normal tax policy all gain (800k) is recognized in year of sale, but Y will not have cash to pay tax so installment method is allowed

Every year = 20k in basis recovery + 80 k in gain + 100k in interest payment

C.  Default rule, you can opt out

D. Only relates to ordinary income, not interest income

E. A proportional amount of each principle payment will be gain

F. Nice for tax payers – asymmetric

1. X gets basis up front for note & will have high basis for selling it even though Y has not paid all the tax on it yet

2. Y gets to delay the basis

3. Tax expenditure

G. Large Installment Sales

1. Still can pay tax through installments but must pay interest on tax deferred to US §453A(b)(1) p. 427

a.  Like borrowing money from US

2. Applies to sums over 5 million at the end of the taxable year §453A(b)(2)

a.  Lax rule – once principle drops below 5 mil the rule does not apply

H. Limitations of Installment Accounting

1. Does not apply to:

a. Publicly traded securities§453(k)(2)

- if you create your own liquidity problem then its your fault

b. Dealers in property §453B(2)(a) & 453(c) (car dealers, Sears)

c.  – anyone who deals in property has financing available to borrow money

I. Deprecations are not allowed to be Installed

1. Applies to property & Equipment 

2. Ex: X buys airplane for 100 mil, depreciated value so basis goes down every year; 1st year basis  = 100 mil, adjusted basis 2nd year = 90 mil (100mil – 10mil)…airplane keeps depreciating till the plane gets sold for 100 mil (but basis = 20mil) = 80 mil ordinary income gain (called depreciation capture)

3. When you depreciate…

a. basis is lowered and you deduct against ordinary income

b. Ex: X sells plane for 120k, 20 mil is adjusted basis (original basis = 100mil)

(1) 100k is total gain

(2) 80 mil is depreciation recapture

(3) 20 mil is LTCG § 1231

4. Not deferred: 80 mil is all taxed

5. Installment method is allowed for price that exceeds the original basis! (20mil)

6. Applies to Equipment §1245

7. No depreciation recapture in Real Estate like buildings: no good reason 

VIII. Fundamentals of Tax

A. Taxable Income defined § 63

1. Computation of Tax = 

GI – deductions = taxable income – tax credits

2. Tax Rates 

a. Individuals = § 1

b. Corporations = §11

B. Gross Income (GI) § 61: lists reportable income

1. Three basic kinds

a. Cash

b. Income “in kind” – like a car, use Fair market Value (FMV)

c. Gains from the sale of property

Ex: buy stocks for 1k, sell at 50k = 49k in GI (or gain)

2. Income excluded from tax

a. Interest on state and municipal bonds

b. NON-recognizable Income

(1) Like Kind Exchanges §1031

When A swaps business or investment property w/ B for a like kind 

(a) Investment Property  - held for investment (not your house)  - not taxed but basis changes (not stocks or bonds)

· IRS is liberal on real estate exchanges

· Swapping real estate for personal property does not count

· Swapping gold for silver does not count Revenue Ruling 82-166 p. 306

· To avoid taxable income, seller and buyer might swap property

· Reg 1.1031 (k)(1): if money from sale is in escrow account, seller has 6 months to buy new property (must pick-out the property w/in 45 days)

· LTCG?: if A and B swaps and A has a short term investment (less than 1 year) and B has a 10 year investment then each party keeps its holding period for tax purposes §1223(1)

(b) Business property other than inventory

· Ex: X owns property, FMV 20k, basis 2k; swaps w/ Y who has property fmv 20k, basis 25k, swap = realization event but no recognition event

· Business Debt: Corp issues 100 mil in bonds, interest rates go up so bond prices go down to 80 mil so corp issues new debt w/ FMV of 80 mil  = 20  mil in COD income § 108 (2)(10) [called recapitalization  = restructuring of corp.’s capital] 

· Bond holders do not recognize gains or losses §354 (a)(1) b/c “quasi like kind exchanges” – bond holders have cont’d their investment in the corp.

· Deemed Exchange: when corp. changes debt instrument enough to have a realization event

- Creates a valuable tax loss (not a book loss)

(c) Stocks & bonds are taxed §1013(a)(2)(D)

· exception is “quasi like kind exchanges” when a corp recapitalizes, look above

· Significant modification of debt instrument (extended maturity, etc) is treated as a deemed exchange which = a realization event

· Bond amendments can become a realization event 

(d) You can exchange business property for investment property

(e) A can qualify under §1013 even if B doesn’t 

(f) Substitute basis: X keeps her original basis and so does Y

· preserves gain to be recognized later (not forgiving tax but deferring tax)

· § 1014 may forgive all tax on gain at death (stepped-up basis)

(g) Boot

· cash or consideration that does not qualify for like-kind exchange

Ex 1: A swaps proprty w/ basis of 50 k and FMV of 120k w/ B for prop w/ FMV of 90k.  So B also throws in 30k cash (boot) to even up the swap.

So A has a 70k difference (120k-50k), the 30k boot is recognized, so the basis of the property is increased from 50k to 80k.  

· Gain realized = the lessor of

1. gain realized /or

2. the amount of boot received

Therefore no boot = no gain recognized (pure like-kind exch.) 

· Gain realized is only taxed up to the boot received

Ex 2: A exchanges property w/ basis of 50k, FMV of 120k w/ B’s property w/ FMV of 40k + 80k in cash

So difference (50k-120k) is 70k, taxed to lessor amount (70k not 80k), the 10k goes to reduction of your basis (not taxed on it yet) and the basis is [(80k-10k) + 50k] = 120k

· You cannot recognize a loss if you have a like-kind exchange §1031

adjust your basis and recognize loss later

· Basis formulae §1031(d)

old basis


+
gain received

·         amount of boot received

New Basis

Ex:  A’s has basis of 50k, FMV of 120k, B has FMV of 90k + 30k in boot: 70k realized, 30k recognized = 40k left, new basis = (50+30-30) or 50!

· Use Formulae in 2 scenarios: all other times just use old basis

1. A loss w/ boot

2. Where you have boot that exceeds the gain realized

· You have to recognize basis b/c if you don’t you will end up paying tax on the same gain 2x 
· Boot itself has a FMV , so some basis will hop from property to boot that necessitates reducing basis on property so you don’t count it 2x {try to preserve gain for later}
(2) Involuntary Conversions

(a) Ex: Building burns worth 1mil FMV, basis= 250k, insurance gives 1mil: if you keep money and do not reinvest = 750k gain, if you reinvest you are only taxed on money not reinvested

(b) §1033: Reinvest all $ in similar relatyed service or use $ w/in 2 years from date of the close of the taxable year in which gain is recognized  = NO TAX

(c) §1033 (invol. conv) compared w/ §1031(like-kind exch.)

· §1033 is more liberal, not mandatory, elective

· §1033 allows you to receive cash

· §1033 does not apply to losses (FMV below basis = recognizable loss)

· §1033 is applicable to personal investments

· §1033 applies to natural disasters, condemnations, eminent domain

(d) Basis = 

cost of property

                                                                  -     gain not recognized

(e) You can take the insurance cash and borrow money equal to the reinvestment and reinvest and keep the cash

(f) Even if you sell to circumvent condemnation proceedings it is an involuntary conversion §1033(a)(1)(b)

(3) Home Sales

(a) New Law §121: Single person can exclude from income up to 250k in gain [married person filing joint return  is 500k under certain scenarios] (250k/500k = forgiveness) (no new basis needed or deferral  = better for tax payers) nothing special for elderly

EX: Single person buys house for 100k in 94’, sells in 99 for 400k = 300k in gain, -250k = 50k taxable gain taxed at 28% LTCG

(b) Limited to one exchange or deal every 2 years

(c) Only primary residence qualifies (no summer homes)

Test for residency

· Property must be owned by tax payer 2/5 years & property must be used by tax payers as principle residence 2/5 years (must comply w/ both rules or its taxed as LTCG)

· BUT if you flunk either test b/c (a) change in employment (doesn’t have to be foreseen) (b) change in health or (c) other unforeseen changes in regulations the you get a break and use the ratio test

· Ratio Test:  X is in house 1 year, the he gets to use ½ of the cap (single person = 125k

· Eligibility to exclude 500k in gain §121(b)(2)

· must be married & file joint return

· either spouse meets ownership requirements

· Both must meet use requirements

(d) Old Law: §1034 (deferral) if you buy a house for at least as much as you sold your old house = no recognition in gain & 55 or older get to exclude a certain amount of gain for permanent basis

(e) House is defined as a boat w/ a head, trailer, condo, etc…

(f) Gain = ARS (amount realized on sale) – basis

· ARS = selling price – expenses of sellers commission

· Basis = purchase price + improvements (fence, pool, etc...no repairs)

(g) Test for residency

(4) Washes: the sale & purchase of the same security w/in 30 days: non recognition applies to losses only!! charl. p. 313

3. Realization event (RE)

a. Must have a realization event to have income

(1) Constitutionally required: Eisner, although most people think it is no longer required

(2) Do not have income simply b/c assets increase in value

b. Realization events…

(1) Must sell or exchange something

(2) Cash Dividend

(3) Investment change in form 

(a) Must differ materially in kind and extent 1.1001 -= (1)(A)

EX: Cottage Savings (CS) p. 294: S&L’s underwent hard time so CS (an S&L) swapped mortgage pools w/ another S&L, b/c basis of pool was 6.9 mil and FMV = 4.5 mil, each S&L had similar assests so they swapped pools and deducted the 2.4 mil loss through NOL so they carried it back and got refund from IRS

· Book losses are not recognizable b/c nothing has changed –so w/out the swap the S&L could not take the loss

· Tax losses are realized

· SUP CT sais these were different materially b/c they are different legal entitlements

(4) Losses count only when realized

c. NON-Realization events

(1)  You do not have Income simply b/c the value of your assets increase in value

(2) Stock Dividends (stocks given in lieu of cash) are Not income

(a) Eisner v. McCombs charl p. 74: unconstitutional b/c you can only tax income (look at Constitutionality §)

d.  When Realization is not needed: basis goes up…

(1) Marked to Market

(a) When you have to take into account appreciation or depreciation every year

(2) Commodities futures §1256

(a) Traded actively – easy to value

(b) markets are very deep so there would be no distressed sale

(3) Publicly traded stocks might be marked to market in future

(4) Required for dealers in securities

d. Policy

(1) Pro-taxpayer

(a) Sell to get losses (NOL)

Speed deductions

(b) Keep investment to prevent gains  
Delay Gains

(c) Ex: 

Choice 1: tax every year, 40% tax,  $100 @ 6% in 20 years = $320.71

Choice 2: deferred tax at end, 40% tax, $100 @ 6% in 20 years  = $ 443.75, you earn interest on each years tax money deferred

Commentary: so Choice 1 would need a 7.7 % interest rate or it is like choice 2 being taxed at 23%

Tax/earnings = tax rate 

(d) Deferring taxes  = good = lower tax rate

· there is an implicit capital gains rate in this system (use realization doctrine deferral)

· effective tax rate depends on length of deferral

· Creates arbitrage

· Especially when combined w/ stepped-up basis §1014

(2) Pro Realization doctrine args

(a) Concerned w/ liquidity: pay tax when you have the cash so you don’t have to go through a distressed sale in order to pay tax

(b) Eliminated valuation concerns 

4. Recovery of Basis (B)

a. Always deduct what you spent on something when you have a RE; Ex: when you sold stocks for 50k, GI = 49k b/c 1k = B

5. GI includes everything for the taxable year

a. Calendar year

b. Fiscal year = 3/1/98 – 2/28/99

6. Adjusted GI § 62 = GI less deductions

a. AGI is an indicator of wealth (the amount available to an individual to pay for food, lodging, etc..)

b. Some deductions are keyed to your AGI

(1) Casualty losses and medical expenses are deductible if the expenses exceed 7.5% of your AGI

C. Deductions § 161 & § 162: decrease in economic wealth

1. Generally

a. Value of deductions depend on your marginal tax rate (as opposed to Tax credit where it doesn’t matter)

Ex: $100 deduction at 15% = reducing taxable income by $100  = $15 saved, r not going to US

2. Deductions below the line for individuals

a. Includes both Exemptions & Standard deductions or Itemized deductions - whichever is higher

(1) Exemptions § 151 (a) & (d) = $2000 indexed to inflation ($2700 in ’98)

(a) Social decision so poor do not have to pay taxes

(b) Ex: H & W w/ 2 kids = 4 exemptions  ( 2 personal + 2 dependant) = $10,800 in non taxable Income

(2) Standard Deductions § 63

(a) Joint return = $7100

Marriage tax

(b) Single = $4250

(3) Itemized Deductions

3. Deductions above the line

a. More desirable – reduces your AGI = less tax

(1)  Reduce your AGI and you can deduct things that are keyed to a % of your AGI

a. Business expenses  

D. General overview

1. Corporations

Gross Income

           (less deductions)

Taxable Income

            x        Tax Rates

Tax payable b/f credits

            (less tax credits)

Final Tax due

a. Double taxed Corporations

(1) 1. Corp. is taxed on what it makes and 2. The ( are taxed on the dividens received from those profits

(2)  Main Q is who ends up with the Incidence (economic burden)

(a) Evans & weak consensus says (
(b) Klien bankman says it is uncertain

(c) Some others say ee’ or vendors do

(3) If Incidence is on (  - then what happens to progressivity?

(a) ( do have more wealth

(b) Organized labor likes corp. Income tax b/c they feel it doesn’t tax labor

(c) Chamber of commerce’s do not like double tax b/c they feel it falls on the capital of the corp (the () 

2. Individuals

Gross Income

(less deduction above the line)

Adjusted Gross Income

(less deductions below the line) 

Taxable Income

E. 2 types of accounting methods

1. Cash Method (personal)

a.  amounts are treated as income when received in cash and are deductible when paid

2. Accrual Method (corp.)

a. Items are included as income when earned (not necessarily received) and deducted when the obligation to pay is incurred (not necessarily when paid)

F. General Principles

1. Time valued money

(a) Tax payers want to delay paying tax due to time valued money

Ex: x owes 1k in taxes, if he puts $926 away for a year at 8% I, then he will will have gained $74

(b) Government sees not getting money up front as a loss of revenue – minus $74

2. Progressive tax system

(a) Based on individuals ability to pay tax

(b) More you make, more you pay tax; rate goes up as income goes up

(c) Deductions also phase out as income goes up; creates new taxes in a way

(1) Upper bracket ends up being more like 50% w/out deductions 

(d) 5 tax brackets


0 – 41,200 
= 15%


99,600 

= 28%


151,750 

= 31%

271,050 

= 36%

above 271,050 
= 39.6%

(1) Marginal rate = the applicability of each bracket

(2) Average or Effective rate = the applicable tax rate over all

Ex: Tax liability / Taxable Income = effective rate (p4 in C)

Average will be lower than marginal rate b/c it is a weighted average

(3) Tax Credit: An offset to a tax: 1 to 1 reduction for the actual tax itself

Ex: tax is 1k, credit is $100 = $900 in tax

(a) as opposed to deductions value of credit is not dependant on marginal tax rate

(4) Refundable Credits = US can give you money

(a) Earned Income Credit is refundable

(b) Policy reasons

i. there are 2 ways to encourage something like education: deduction or credit

ii. Deductions mean more to upper bracket people while credits mean more to lower bracket people: credit ensures everyone can use it

iii. Best scenerio: use a credit that phases out at higher brackets 

(e) As opposed to Proportional system (under Reagan)

(1) 2 steps of tax, but you either paid 15%, OR 28% IF Taxable income was 30k +

(f) Regressive Tax System: 40% at bottom, 15% at top

(1) State sales tax is regresive

(g) Pro-Progressive

(1) Ability to pay: value of 1st 100k is more valuable than 2nd 100k

· c/a: hard to make interpersonal comparrisons of marginal utility to justify the %’s

· c/a: people who make more money value it more

· cc/a: use objective standard

(2) US system allows one to earn so much

- c/a lower income people actually get more from the feds

(3) Way of wealth redistribution: look at corporate, estate, and gift taxes

- c/a wealth tax is better

(4) Offsets other regressive taxes like the sales tax

- c/a too rough and imprecise

(h) Anti-Progressive

(1) Bad incentives, why work that hard to get into the high bracket where you won’t keep enough

(a) Which is better: 

i. Substitution effect: X will substitute liesure for work b/c the tax rate is too high too make a difference

ii. Income Effect: X will work harder to get more money anyway

(2) Moral right to the fruit of your labors – freedom arg

(a) c/a privilidge or luck does not give anyone the right not to have to give more

3. Indexing for inflation § 1 (f)

(a) rates are indexed to CPI – adjusted by secretary of treasury every year

(b) Says Congress can apply tables to take into account paying more tax w/out actual increase in income

IX. Constitutionality, Hierarchy & Ethics of Tax Law

A. Constitutionality

1. Direct tax is Constitutional only if based on Income or head

a. Can only tax on income – 16th amendment (Eisner p. 74 in Charl..) or on head

b. Original C says: Direct taxes have to be apportioned based on population

(1) So is VA has 10x the people as RI then VA must pay 10x the tax as RI

(2) Have to have a head tax – (keeps states from gaining up in each other)

2. Indirect taxes do not have to be limited this way

a. Indirect taxes are taxes not on people (but on transactions) – like excise tax (gas, booze)

B. Hierarchy of Tax Law

1. Constitution

2. Code

3. Treasury Regs (force of law – courts can strike them if the conflict w/ the code)

4. Revenue Rulings & Procedures

a. IRS opinion of law, frequently struck down, can’t contravene regs. or code

b. You can ethically ignore these assuming certain conditions are met

5. Private Letter Rulings

C. Ethics

1. Tax Payer

a. Perjury on tax return = 3 year Felony § 7206(1) p. 832

(1) You have to know you are violating the tax laws

(2) Criminal, so BoP = BRD

b. Civil Fraud §6663

(1) civil so BoP = POE

(2) Pay tax + 75% of tax you owe + interest

c. Over Aggressive but plausible § 6662

(1) Tax you owe + interest + 20% penalty

(2) Conduct must be willful, ignorance of the law is an excuse
d. How to avoid Trouble

(1) §6662(d)(2)(B)(i): file a disclosure of your position for not following a Reg.

(a) Must have  a reasonable basis

(b) Gov’t cannot asses penalty if there was a 10-20% chance you would win in court

(2) If you have substantial authority for your position = no need to disclose

(a) 40% chance of winning w/ this standard

(b) Private letter rulings  = substantial authority

2. Lawyers Responsibility

a. Aid or assist someone committing fraud = guilty or liable yourself § 7206(2)

b. ABA ethical rules 85-352

(1) “A lawyer can recommend that a client take a position on a tax return if there is a realistic possibility of success”

(a) Equates to a 1/3 chance of prevailing on the merits if litigated

(b) Means you can be aggressive but not sleazy

(2) Cannot give opinion based on IRS Audit lottery (less than 1% of all returns are audited) 

c. Lawyers standard = 30%, clients  = 40%, so the thin line is that lawyer must disclose to client the difference in the standards

X. Tax Polices

A. Different types of taxes

1. Income

2. Consumption

(a) Like a sales tax, Europe uses the VAT

(b) Multi tiered sales tax

Seller
Buyer
Tax rate
What is taxed
$ to Gov.

Farmer

0 value
Miller

$1000
10% VAT
$1000
$100

Miller

$1000
Baker

$1400
10% VAT
$400
$40

Baker

$1400
Stone

$2000
10% VAT
$600
$60

Stone

$2000
Public

$2500
10%
$500
$50

Consumer ultimately bears entire cost of $250.00 in tax

(c) Difference b/w sales tax and VAT

(1) Sales tax only taxes the final consumers, not the middle people

3. Head or Poll Tax

(a) Each person pays the same amount

B. Policy consideration behind taxes

1. Fairness, Administrative feasibility (simplicity), economic rationality

* want a tax system that avoids disruptive behavior  

2. Effects

Tax
Efficiency
Simplicity
Fairness

Income Tax
(a)Problem b/c of double tax
(d)Problems w/ evaluation of real costs
(g)Very fair

Consumption Tax
(b)Better than IT
(e)Better than IT
(h)???

Head Tax
(c)Best
Best
Problematc

(a) Double tax b/c X is not only taxed on earning money for savings, but also the interest on the money after X saved it.

(1) IT might be the reason we don’t save as much as other countries

(2) More savings = more capitol for investment; If we borrow money it operates to take away money from the country (weak consensus among economists)

(b) Only taxes savings when you spend money – once

(c) Would have to die or leave country to avoid this tax – straight forward

(d) Complex – imposes real costs on our system, resources are consumed in administering and complying w/ the rules

(1) We incur costs to avoid other costs

(2) Taxes should be a transfer payment, not a real cost

(e) More people save, but they do borrow as well – easier to keep track of taxes

(f) 2 types of fairness

(1) Horizontal equality: People in same economic situation pay equal tax

(2) Vertical: Income is better suraget to measure ability to pay tax

(g) Inherently regressive in that lower income people pay a higher % of income tax

3. Why not VAT?

(a) Looks like a hidden tax

(b) Encroachment on traditional tax base

(c) State and local governments oppose a Fed. VAT 

XI. Tax Expenditures

A. Definition:

1. The difference b/w tax liability under present law and the tax liability that would result from a recomputation of tax w/out benefit of the tax expenditure provision

2. Departure from normal tax structure

(a) Narrow definition of normal  = a broader definition of what a tax expenditure is

3. Politicians refer to Tax expenditures as loop holes or corporate welfare 

B. Why

1. Measures economic benefits

2. Determines the relative value of achieving certain specific public goals through tax benefits and outlays

C. Ways to encourage activities through taxes

1. Deduction

(a) Allow  a deduction to be taken that would not normally be allowed

(1) Home mortgage, property taxes

2. Credits

(a) Low income housing, education

3. Acceleration: allow one to take deductions in earlier years – Time value of money (TVM)

(a) Better off to lower taxes now then in 2002

(b) Ex: Corp. cannot deduct asset – they must capitalize it so...Firm buys 100k computer system, it cannot deduct the cost that year, instead it must take deprciation costs ver time, 10k a year for 10 years (theoretically it proximates the actual decline of the property each year) so we allow the corp. to take 20k for next 5 years – accelerates deduction – better b/c TVM

4. Permanent exclusion from Gross Income

(a) Such as the interest on a state or local bond

Texas
Bonds


Owner






      Interest (not taxed)

(b) State or local gov’t can offer a lower interest rate (school = 6% no tax, regular = 8% taxed)

5. Delay Recognition of Income

(a) Ex: Pension Plans – tax exempt till you pull money out at retirement

(1) Firm gets to deduct the money it puts into the fund

(2) EE does not get taxed on the income

(3) Pension plan itself is tax exempt

6. Give a lower tax rate

(a) Capital Gains – 20% instead of the higher 40% if you are in that bracket

XII. ljkhgkh

IV. Articles in Class

A. On Mutual Funds: Rics v. Reits

1. Definitions

(a) Ric = a mutual fund (regulated investment co.)

Stocks

· C Corp

Bonds





 Rics

(b) Reit = real estate (real estate investment trust)

Hotels

Reit         



Office Buildings

2. Rics (mutual funds or C corps that invest in stocks and bonds)

(a) Pro tax regulations

i. taxed by pass through or flow through entities – avoids double tax

· Ordinary gain to Ric  = ordinary gain to (
· LTCG to Ric = LTCG to (
· Ric sends Form 1099 to ( to tell how dividend was taxed 

ii. If Ric pays out all of its earnings to ( then the Ric does not get taxed

iii. Same is true for Reits
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